Int. J. Nonlinear Anal. Appl. 13 (2022) No. 1, 1105-1112 ISSN: 2008-6822 (electronic) http://dx.doi.org/10.22075/ijnaa.2022.5652



Some of the sufficient conditions to get the G-Bi-shadowing action

Mohammed Hussein Obaid Ajam^{a,*}, Iftichar Mudhar Talb Al-Shara'a^a

^aDepartment of Mathematics, Collage of Education for Pure Science, University of Babylon, Babylon, Iraq

(Communicated by Madjid Eshaghi Gordji)

Abstract

The aim of this paper is introduced some examples of a G-bi-shadowing actions on the metric G-space, by study a sufficient conditions of actions to be G-bi-shadowing. We show the G- λ -Contraction actions, G-(λ , L)-Contraction action, and G-Hardy-Rogers contraction action are G-bi-shadowing by proved some theorems.

Keywords: G-space, G-Bi-Shadowing, Sufficient Conditions, G-Contraction.

1. Introduction

The concept of shadowing is of great importance in studying and understanding dynamical systems because it often accounts for the accuracy of a computer simulation of the system being used. Work on it began to be developed by many researchers in recent years as an important link for dynamical systems with stability and chaos. The map with has shadowing property is assumed to have a true orbit fairly close to each pseudo orbit of this map. The researcher who gave the concept of shadowing is [15], see more [13, 1, 2].

Some researchers have evolved the shadowing into the bi-shadowing by assuming that the true orbit be on another maps under specific conditions. The researcher who gave the concept of bi-shadowing is [9]. Later in [3, 4] the researchers studied many relations between the bi-shadowing and other concept.

[5] introduce types of bi-shadowing concept. [6] introduced the concept of G-bi-shadowing on the G-space, and studied the G-chaotic behaviour with G-bi-shadowing.

In this paper we presented the concepts of \mathbb{G}_{s} - λ -contraction, \mathbb{G}_{s} - (λ, L) -contraction, and \mathbb{G}_{s} -Hardy-Rogers contraction, then studied the actions satisfies it is \mathbb{G} -bi-shadowing.

^{*}Corresponding author

Email addresses: mohammed_ajam@science.uoqasim.edu.iq (Mohammed Hussein Obaid Ajam), ifticharalshraa@gmail.com (Iftichar Mudhar Talb Al-Shara'a)

2. Preliminaries

Let \mathbb{G} be a group, \mathbb{X} be a Hausdorff topological space and ϕ be a map. Then the triple $(\mathbb{G}, \mathbb{X}, \phi)$ is called topological transformation group.

Definition 2.1. [12]

The map $\phi: \mathbb{G} \times \mathbb{X} \to \mathbb{X}$ which satisfies:

- 1. $\phi(g, .)$ is a homeomorphism of X for any $g \in \mathbb{G}$,
- 2. $\phi(e, x) = x$ for all $x \in \mathbb{X}$ where e is the identity of the group \mathbb{G} ,
- 3. $\phi(g_1, \phi(g_2, x)) = \phi(g_1g_2, x)$, for all $g_1, g_2 \in \mathbb{G}, x \in \mathbb{X}$.

is called an **action** of a group \mathbb{G} on \mathbb{X} . And a space \mathbb{X} with an action ϕ of \mathbb{G} is called a \mathbb{G} -space.

Definition 2.2. [12, 10]

The group \mathbb{G} is called **generated by** \mathbb{S} if $\langle \mathbb{S} \rangle = \mathbb{G}$.

The group \mathbb{G} is called **finitely generated** if the generating set \mathbb{S} is finite.

The generating set S is called **symmetric** if for any $s \in S$ then $s^{-1} \in S$.

In this paper we suppose that \mathbb{G} is a finitely generated group, \mathbb{X} is a metric \mathbb{G} -space with metric d, and $\phi : \mathbb{G} \times \mathbb{X} \to \mathbb{X}$ be an action. And we fix finite symmetric generating set s of \mathbb{G} .

Remark 2.3. For $x \in \mathbb{X}$ and $n \in \mathbb{N}$, we have:

- 1. By Definition 2.1 the image of x by ϕ is $\phi(\mathbf{s}, x)$ for $\mathbf{s} \in \mathbb{S}$.
- 2. We denote to the inverse image of ϕ by ϕ^{-1} , and the inverse image of x by ϕ is $\phi^{-1}(\mathbf{s}, x) = \phi(\mathbf{s}^{-1}, x)$, for $\mathbf{s} \in \mathbb{S}$.
- 3. The *n*-iterate of x by ϕ is

$$\underbrace{\phi\left(\mathbf{s},\ldots\phi\left(\mathbf{s},x\right)\right)}_{n-iterate} = \phi\left(\underbrace{\mathbf{s}\ldots\mathbf{s}}_{n-items},x\right) = \phi\left(n\mathbf{s},x\right), \quad for \ \mathbf{s} \in \mathbb{S},$$

so we denote to n iterate of ϕ by ϕ^n and $\phi^n(\mathbf{s}, .) = \phi(n\mathbf{s}, .)$, for $\mathbf{s} \in \mathbb{S}$.

4. The *n* inverse iterate of x by ϕ is

$$\underbrace{\phi\left(\mathbf{s}^{-1},\ldots\phi\left(\mathbf{s}^{-1},x\right)\right)}_{n-iterate} = \phi\left(\underbrace{\mathbf{s}^{-1}\ldots\mathbf{s}^{-1}}_{n-items},x\right) = \phi\left(n\mathbf{s}^{-1},x\right), \quad for \ \mathbf{s} \in \mathbf{s},$$

so we denote to n inverse iterate of ϕ by ϕ^{-n} and $\phi^{-n}(\mathbf{s}, .) = \phi(n\mathbf{s}^{-1}, .)$, for $\mathbf{s} \in \mathbb{S}$.

Definition 2.4. [8] For $x \in \mathbb{X}$, the sequence $\mathbb{O}(x) = \{\phi(g, x) \in X \mid g \in \mathbb{G}\}$ which generated by x and a group \mathbb{G} is called \mathbb{G} -orbit of x for ϕ in \mathbb{X} .

Definition 2.5. [14] A sequence $\mathbf{x} = \{x_q \in \mathbb{X} \mid g \in \mathbb{G}\}$ is called \mathbb{G}_s -orbit for ϕ if satisfying

$$x_{sg} = \phi(s, x_g) \text{ for } s \in \mathbb{S} \text{ and } g \in \mathbb{G}.$$
(2.1)

Remark 2.6.

1. We rewrite a \mathbb{G}_{s} -orbit $\mathbf{x} = \{x_{g} \in \mathbb{X} \mid g \in \mathbb{G}\}$ in Definition 2.5 as a sequence associated with a subset of integer numbers, then a sequence \mathbf{x} is became $\mathbf{x} = \{x_{n} \in \mathbb{X} \mid n \in \mathbb{I} \subseteq \mathbb{Z}\}$, when the length of an interval $\mathbb{I} \subseteq \mathbb{Z}$ depends on the members of a group \mathbb{G} . We can reformulated the Condition (2.1) as follows :

$$x_{n+1} = \phi(\mathbf{s}, x_n) \text{ for } n \in \mathbb{Z}, \ \mathbf{s} \in \mathbb{S}.$$

2. Note that a sequence \mathbf{x} can be finite or infinite.

Definition 2.7. [14] For $\delta > 0$, a sequence $\mathbf{y} = \{y_g \in \mathbb{K} \mid g \in \mathbb{G}\}$ is called \mathbb{G}_s - δ -pseudo orbit for ϕ if satisfying

$$d(y_{sq}, \phi(s, y_q)) \le \delta, \text{ for } s \in \mathbb{S} \text{ and } g \in \mathbb{G}.$$
(2.2)

Remark 2.8.

- 1. As in Remark 2.6, we can reformulated $\mathbf{y} = \{y_n \in \mathbb{X} | n \in \mathbb{I} \subseteq \mathbb{Z}\}$ and the condition (2.2) as follows $d(y_{n+1}, \phi(\mathbf{s}, y_n)) \leq \delta$, for $n \in \mathbb{Z}$, $\mathbf{s} \in \mathbb{S}$.
- 2. Note that a sequence \mathbf{y} can be finite or infinite.
- 3. Let $\mathbb{O}(\phi)$, and $\mathbb{O}(\phi, \delta)$ be denote the sets of all (finite or infinite) \mathbb{G}_{s} -orbits for ϕ , and \mathbb{G}_{s} - δ -pseudo orbits.

Definition 2.9. Let $\phi : \mathbb{G} \times \mathbb{X} \to \mathbb{X}$ and $\psi : \mathbb{G} \times \mathbb{X} \to \mathbb{X}$ be an actions. The \mathbb{G}_s -distance between ϕ and ψ is given by:

$$d_{0}(\phi,\psi) = \sup_{x \in \mathbb{X}} \left\{ d\left(\phi\left(\mathfrak{s},x\right),\psi\left(\mathfrak{s},x\right)\right) \right\} \text{ for } \mathfrak{s} \in \mathbb{S}.$$

Definition 2.10. Let a, b > 0, the action ϕ is called \mathbb{G}_s -bi-shadowing with a and b on \mathbb{X} (for short we denoted by \mathbb{G}_s -(a,b)-bi-shadowing) if there exists $0 < \delta \leq b$ such that for any \mathbb{G}_s - δ -pseudo orbit (finite or infinite) $\mathbf{y} = \{y_n \in \mathbb{X} | n \in \mathbb{I} \subseteq \mathbb{Z}\} \in \mathbb{O}(\phi, \mathbb{X}, \delta)$ and any action $\psi : \mathbb{G} \times \mathbb{X} \to \mathbb{X}$ satisfying $d_0(\phi, \psi) \leq -\delta$ then there exists a \mathbb{G}_s -orbit $\mathbf{x} = \{x_n \in \mathbb{X} | n \in \mathbb{I} \subseteq \mathbb{Z}\} \in \mathbb{O}(\psi, \mathbb{X})$ such that:

 $d(x_n, y_n) \leq a(\delta + d_0(\phi, \psi)) \leq ab$, for all as define in **y**.

We will introduced the concepts of \mathbb{G}_{s} - λ -contraction, \mathbb{G}_{s} - (λ, L) -contraction, and \mathbb{G}_{s} -Hardy-Rogers contraction.

Definition 2.11. The action ϕ is called \mathbb{G}_{s} - λ -contraction if there exists $0 < \lambda < 1$ such that $d(\phi(s, x), \phi(s, y)) \leq \lambda d(x, y)$ for all $x, y \in \mathbb{X}$, and $s \in \mathbb{S}$.

Definition 2.12. The action ϕ is called \mathbb{G}_{s} - (λ, L) -contraction, if there exists constants $0 \leq \lambda < 1$ and $L \geq 0$ such that

$$d\left(\phi\left(\mathbf{s},x\right),\phi\left(\mathbf{s},y\right)\right) \leq \lambda d\left(x,y\right) + L d\left(y,\phi\left(\mathbf{s},x\right)\right), \text{ for all } x, y \in \mathbb{X} \text{ and } \mathbf{s} \in \mathbb{S}.$$

Definition 2.13. The action ϕ is called \mathbb{G}_{s} -Hardy-Rogers contraction action [11] if there exist nonnegative constants $\lambda_{1}, \lambda_{2}, \lambda_{3}, \lambda_{4}, \lambda_{5}$ with $0 < \lambda_{1} + \lambda_{2} + \lambda_{3} + \lambda_{4} + \lambda_{5} < 1$ such that

$$d (\phi (\mathbf{s}, x), \phi (\mathbf{s}, y)) \leq \lambda_1 d (x, y) + \lambda_2 d (x, \phi (\mathbf{s}, x)) + \lambda_3 d (y, \phi (\mathbf{s}, y)) + \lambda_4 d (x, \phi (\mathbf{s}, y)) + \lambda_5 d (y, \phi (\mathbf{s}, x)),$$

for all $x, y \in \mathbb{X}$, and $s \in \mathbb{S}$.

Remark 2.14.

- 1. A \mathbb{G}_{s} - λ -contraction actions are special case of a \mathbb{G}_{s} - (λ, L) -contraction actions such that every \mathbb{G}_{s} - λ -contraction action is \mathbb{G}_{s} - (λ, L) -contraction with L = 0.
- 2. A \mathbb{G}_{s} - λ -contraction actions are special case of a \mathbb{G}_{s} -Hardy-Rogers contraction actions such that every \mathbb{G}_{s} - λ -contraction is \mathbb{G}_{s} -Hardy-Rogers contraction with $\lambda_{2} = \lambda_{3} = \lambda_{4} = \lambda_{5} = 0$.

Main Theorems 3.

In this section, we proved some theorems that showed the actions which \mathbb{G}_{s} - λ -contraction, \mathbb{G}_{s} - (λ, L) -contraction, and \mathbb{G}_s -Hardy-Rogers contraction respectively are \mathbb{G} -bi-shadowing.

Theorem 3.1. Let ϕ be a \mathbb{G}_{s} - λ -contraction action, then ϕ is \mathbb{G}_{s} -(a,b)-bi-shadowing given by:

$$a = \frac{2}{1-\lambda} \text{ and } b = (1-\lambda)$$
(3.1)

Proof. Fix $\delta < \frac{(1-\lambda)}{2}$. Let $\{y_g \equiv y_n | g \in \mathbb{G}, n \in \mathbb{Z}\}$ be a given \mathbb{G}_s - δ -pseudo orbit for ϕ , and let

 $\psi: \mathbb{G} \times \mathbb{X} \to \mathbb{X} \text{ be any action such that } d_0(\phi, \psi) \leq \frac{(1-\lambda)}{2}.$ It follows that $\delta + d_0(\phi, \psi) \leq \frac{(1-\lambda)}{2} + \frac{(1-\lambda)}{2} = (1-\lambda) = \mathbb{b}.$ Fix $m \in \mathbb{Z}$, consider a \mathbb{G}_s -orbit $\{x_g \equiv x_n | g \in \mathbb{G}, n \in \mathbb{Z}\}$ for ψ and satisfying

$$d(x_m, y_m) \le \frac{1}{1 - \lambda} \left(\delta + d_0(\phi, \psi) \right)$$
(3.2)

By induction, for n = m + 1 then:

$$d(x_{m+1}, y_{m+1}) = d(\psi(\mathbf{s}, x_m), y_{m+1})$$

$$\leq d(\psi(\mathbf{s}, x_m), \phi(\mathbf{s}, x_m)) + d(\phi(\mathbf{s}, x_m), \phi(\mathbf{s}, y_m)) + d(\phi(\mathbf{s}, y_m), y_{m+1})$$

$$\leq d_0(\phi, \psi) + \lambda d(x_m, y_m) + \delta = (\delta + d_0(\phi, \psi)) + d(x_m, y_m).$$

For n = m + 2 then:

$$d (x_{m+2}, y_{m+2}) = d (\psi (s, x_{m+1}), y_{m+2}) \leq d (\psi (s, x_{m+1}), \phi (s, x_{m+1})) + d (\phi (s, x_{m+1}), \phi (s, y_{m+1})) + d (\phi (s, y_{m+1}), y_{m+2}) \leq d_0 (\phi, \psi) + \lambda d (x_{m+1}, y_{m+1}) + \delta \leq d_0 (\phi, \psi) + \lambda [(\delta + d_0 (\phi, \psi)) + \lambda d (x_m, y_m)] + \delta = (1 + \lambda) (\delta + d_0 (\phi, \psi)) + \lambda^2 d (x_m, y_m)$$

For n = m + 3 then:

$$d (x_{m+3}, y_{m+3}) = d (\psi (s, x_{m+2}), y_{m+3}) \leq d (\psi (s, x_{m+2}), \phi (s, x_{m+2})) + d (\phi (s, x_{m+2}), \phi (s, y_{m+2})) + d (\phi (s, y_{m+2}), y_{m+3}) \leq d_0 (\phi, \psi) + \lambda d (x_{m+2}, y_{m+2}) + \delta \leq d_0 (\phi, \psi) + \lambda [(1 + \lambda) (\delta + d_0 (\phi, \psi)) + \lambda^2 d (x_m, y_m)] + \delta \leq (\delta + d_0 (\phi, \psi)) + \lambda [(\delta + d_0 (\phi, \psi)) + \lambda (\delta + d_0 (\phi, \psi)) + \lambda^2 d (x_m, y_m)] \leq (\delta + d_0 (\phi, \psi)) + \lambda (\delta + d_0 (\phi, \psi)) + \lambda^2 (\delta + d_0 (\phi, \psi)) + \lambda^3 d (x_m, y_m) \leq (1 + \lambda + \lambda^2) (\delta + d_0 (\phi, \psi)) + \lambda^3 d (x_m, y_m).$$

In general, we obtain

$$d(x_{m+n}, y_{m+n}) \leq (1 + \lambda + \lambda^2 + \dots + \lambda^{n-1}) (\delta + d_0(\phi, \psi)) + \lambda^n d(x_m, y_m)$$
$$\leq \frac{1}{1 - \lambda} (\delta + d_0(\phi, \psi)) + d(x_m, y_m).$$

Since $\lambda < 1$ and using the conditions (3.1) and (3.2) we have

$$d(x_{m+n}, y_{m+n}) \leq \frac{2}{1-\lambda} \left(\delta + d_0(\phi, \psi) \right) = a\left(\delta + d_0(\phi, \psi) \right).$$

Since $m \in \mathbb{Z}$ is arbitrary, then $d(x_{m+n}, y_{m+n}) \leq a(\delta + d_0(\phi, \psi))$ for $n \in \mathbb{Z}$. \Box

Now, we generalize the result in Theorem 3.1 to \mathbb{G} - (λ, L) -contraction actions.

Theorem 3.2. Let ϕ be a \mathbb{G}_{s} - (λ, L) -contraction action for $0 < \lambda < 1$, $L \ge 0$, and $\lambda + L < 1$. And let an action ϕ satisfy the conditions below:

- i) For any \mathbb{G}_{s} - δ -pseudo orbit $\{y_{g} \equiv y_{n} | g \in \mathbb{G}, n \in \mathbb{Z}\}$ of ϕ with $\delta < \frac{(1-\lambda-L)}{2}$, then the series $S = \sum_{n=0}^{\infty} \mathrm{d}(\phi(s, y_{n}), y_{n})$ is convergent.
- ii) For every action ψ : $\mathbb{G} \times \mathbb{X} \to \mathbb{X}$ satisfying $d_0(\phi, \psi) \leq \frac{(1-\lambda-L)}{2}$, the following inequality is satisfied:

$$L S < \delta + \mathbf{d}_0 \left(\phi, \psi \right). \tag{3.3}$$

Then the action ϕ is \mathbb{G}_{s} -(a,b)-bi-shadowing given by

$$\mathbf{a} = \frac{2}{1 - \lambda - L} \text{ and } \mathbf{b} = (1 - \lambda - L). \tag{3.4}$$

Proof. Fix $\delta < \frac{(1-\lambda-L)}{2}$. Let $\{y_g \equiv y_n | g \in \mathbb{G}, n \in \mathbb{Z}\}$ be a given \mathbb{G}_s - δ -pseudo orbit for ϕ , and let $\psi : \mathbb{G} \times \mathbb{X} \to \mathbb{X}$ be any action such that $d_0(\phi, \psi) \leq \frac{(1-\lambda-L)}{2}$. It follows that

$$\delta + d_0(\phi, \psi) \le \frac{(1 - \lambda - L)}{2} + \frac{(1 - \lambda - L)}{2} = (1 - \lambda - L) = b.$$

Consider a \mathbb{G}_s -orbit $\{x_g \equiv x_n | g \in \mathbb{G}, n \in \mathbb{Z}\}$ for ψ satisfying Definition 2.10, and we use (3.3) to choose $m \in \mathbb{Z}$ such that x_m with the following property:

$$d(x_m, y_m) + \frac{LS}{1 - \lambda - L} \le \frac{\delta + d_0(\phi, \psi)}{1 - \lambda - L}.$$
(3.5)

By induction, for n = m + 1:

$$d(x_{m+1}, y_{m+1}) = d(\psi(\mathfrak{s}, x_m), y_{m+1})$$

$$\leq d(\psi(\mathfrak{s}, x_m), \phi(\mathfrak{s}, x_m)) + d(\phi(\mathfrak{s}, x_m), \phi(\mathfrak{s}, y_m)) + d(\phi(\mathfrak{s}, y_m), y_{m+1})$$

$$\leq d_0(\phi, \psi) + \lambda d(x_m, y_m) + L d(x_m, \phi(\mathfrak{s}, y_m)) + \delta$$

$$\leq (\delta + d_0(\phi, \psi)) + \lambda d(x_m, y_m) + L [d(x_m, y_m) + (y_m, \phi(\mathfrak{s}, y_m))]$$

$$\leq (\delta + d_0(\phi, \psi)) + (\lambda + L) d(x_m, y_m) + L d(y_m, \phi(\mathfrak{s}, y_m)).$$

For n = m + 2*:*

$$\begin{aligned} d(x_{m+2}, y_{m+2}) &= d(\psi(s, x_{m+1}), y_{m+2}) \\ &\leq d(\psi(s, x_{m+1}), \phi(s, x_{m+1})) + d(\phi(s, x_{m+1}), \phi(s, y_{m+1})) + d(\phi(s, y_{m+1}), y_{m+2}) \\ &\leq d_0(\phi, \psi) + \lambda d(x_{m+1}, y_{m+1}) + L d(x_{m+1}, \phi(s, y_{m+1})) + \delta \\ &\leq (\delta + d_0(\phi, \psi)) + \lambda d(x_{m+1}, y_{m+1}) + L \left[d(x_{m+1}, y_{m+1}) + (y_{m+1}, \phi(s, y_{m+1})) \right] \\ &\leq (\delta + d_0(\phi, \psi)) + (\lambda + L) d(x_{m+1}, y_{m+1}) + L d(y_{m+1}, \phi(s, y_{m+1})) . \\ &\leq (\delta + d_0(\phi, \psi)) + (\lambda + L) \left[(\delta + d_0(\phi, \psi)) + (\lambda + L) d(x_m, y_m) + L d(y_m, \phi(s, y_m)) \right] \\ &+ L d(y_{m+1}, \phi(s, y_{m+1})) . \end{aligned}$$

For n = m + 3*:*

$$\begin{aligned} d(x_{m+3}, y_{m+3}) &= d(\psi(s, x_{m+2}), y_{m+3}) \\ &\leq d(\psi(s, x_{m+2}), \phi(s, x_{m+2})) + d(\phi(s, x_{m+2}), \phi(s, y_{m+2})) + d(\phi(s, y_{m+2}), y_{m+3}) \\ &\leq (\delta + d_0(\phi, \psi)) + (\lambda + L) d(x_{m+2}, y_{m+2}) + L d(y_{m+2}, \phi(s, y_{m+2})) . \\ &\leq (\delta + d_0(\phi, \psi)) + (\lambda + L) [(1 + (\lambda + L)) (\delta + d_0(\phi, \psi)) + (\lambda + L)^2 d(x_m, y_m) \\ &+ L (\lambda + L) d(y_m, \phi(s, y_m)) + L d(y_{m+1}, \phi(s, y_{m+1}))] + L d(y_{m+2}, \phi(s, y_{m+2})) \\ &\leq (1 + (\lambda + L) + (\lambda + L)^2) (\delta + d_0(\phi, \psi)) + (\lambda + L)^3 d(x_m, y_m) + L (\lambda + L)^2 d(y_m, \phi(s, y_m)) \\ &+ L (\lambda + L) d(y_{m+1}, \phi(s, y_{m+1})) + L d(y_{m+2}, \phi(s, y_{m+2})). \end{aligned}$$

In general, we obtain

$$d(x_{m+n}, y_{m+n}) \le (\delta + d_0(\phi, \psi)) \sum_{k=0}^{n-1} (\lambda + L)^k + (\lambda + L)^n d(x_m, y_m) + \sum_{k=0}^{n-1} L(\lambda + L)^{n-k-1} d(y_{m+k}, \phi(\mathbf{s}, x_{m+k}))$$

Note, if we write

$$\sum_{k=0}^{n-1} L \ (\lambda+L)^{n-k-1} d \left(y_{m+k}, \phi\left(\mathbf{s}, x_{m+k}\right) \right) = \sum_{k=0}^{n-1} a_k \ b_{n-k-1}$$

 $a_n = d(y_{m+k}, \phi(\mathbf{s}, x_{m+k})), \text{ and } b_n = L(\lambda + L)^n \text{ for } n \ge 0, \text{ and if }$

$$c_n = \sum_{k=0}^{n-1} a_k \ b_{n-k-1}$$

then Theorem 8.46 in [7] implies that the series $\sum_{k=0}^{\infty} c_n$ is convergent and

$$\sum_{k=0}^{\infty} c_n = \frac{L S}{1 - \lambda - L}.$$

Therefore, by the conditions (3.4) and (3.5) and since $\lambda + L < 1$ we have

$$d(x_{m+n}, y_{m+n}) \leq (\delta + d_0(\phi, \psi)) \sum_{n=0}^{\infty} (\lambda + L)^n + (\lambda + L)^n d(x_m, y_m) + \sum_{n=0}^{\infty} c_n$$
$$\leq \frac{\delta + d_0(\phi, \psi)}{1 - \lambda - L} + (x_m, y_m) + \frac{L S}{1 - \lambda - L} \leq \frac{\delta + d_0(\phi, \psi)}{1 - \lambda - L} + \frac{\delta + d_0(\phi, \psi)}{1 - \lambda - L}$$
$$= \frac{2 (\delta + d_0(\phi, \psi))}{1 - \lambda - L} = a (\delta + d_0(\phi, \psi)).$$

Since $m \in \mathbb{Z}$ is arbitrary, then $d(x_{m+n}, y_{m+n}) \leq a(\delta + d_0(\phi, \psi))$ for $n \in \mathbb{Z}$. \Box

Theorem 3.3. Let ϕ be a \mathbb{G}_{s} -Hardy-Rogers contraction action as in Definition 2.13, then it is \mathbb{G}_{s} - (λ, L) -contraction such that

$$\lambda = \frac{\lambda_1 + \lambda_2 + \lambda_4}{1 - \lambda_3 - \lambda_4} \text{ and } L = \frac{\lambda_2 + \lambda_3 + \lambda_4 + \lambda_5}{1 - \lambda_3 - \lambda_4}$$
(3.6)

Proof.

$$\begin{aligned} \mathrm{d}\left(\phi\left(\mathbf{s},x\right),\phi\left(\mathbf{s},y\right)\right) \\ &\leq \lambda_{1}\mathrm{d}\left(x,y\right) + \lambda_{2}\mathrm{d}\left(x,\phi\left(\mathbf{s},x\right)\right) + \lambda_{3}\mathrm{d}\left(y,\phi\left(\mathbf{s},y\right)\right) + \lambda_{4}\mathrm{d}\left(x,\phi\left(\mathbf{s},y\right)\right) + \lambda_{5}\mathrm{d}\left(y,\phi\left(\mathbf{s},x\right)\right) \\ &\leq \lambda_{1}\mathrm{d}\left(x,y\right) + \lambda_{2} \left[\mathrm{d}\left(x,y\right) + \left(y,\phi\left(\mathbf{s},x\right)\right)\right] + \lambda_{3} \left[\mathrm{d}\left(y,\phi\left(\mathbf{s},x\right)\right) + \left(\phi\left(\mathbf{s},x\right),\phi\left(\mathbf{s},y\right)\right)\right] \\ &+ \lambda_{4} \left[\mathrm{d}\left(x,y\right) + \mathrm{d}\left(y,\phi\left(\mathbf{s},x\right)\right) + \mathrm{d}\left(\phi\left(\mathbf{s},x\right),\phi\left(\mathbf{s},y\right)\right)\right] + \lambda_{5}\mathrm{d}\left(y,\phi\left(\mathbf{s},x\right)\right) \\ &\leq \left(\lambda_{1} + \lambda_{2} + \lambda_{4}\right)\mathrm{d}\left(x,y\right) + \left(\lambda_{2} + \lambda_{3} + \lambda_{4} + \lambda_{5}\right)\mathrm{d}\left(y,\phi\left(\mathbf{s},x\right)\right) + \left(\lambda_{3} + \lambda_{4}\right)\mathrm{d}\left(\phi\left(\mathbf{s},x\right),\phi\left(\mathbf{s},y\right)\right), \end{aligned}$$

It follows that

$$d\left(\phi\left(\mathbf{s},x\right),\phi\left(\mathbf{s},y\right)\right) \leq \frac{\lambda_{1}+\lambda_{2}+\lambda_{4}}{1-\lambda_{3}-\lambda_{4}} d\left(x,y\right) + \frac{\lambda_{2}+\lambda_{3}+\lambda_{4}+\lambda_{5}}{1-\lambda_{3}-\lambda_{4}} d\left(y,\phi\left(\mathbf{s},x\right)\right)$$

Take

$$\lambda = \frac{\lambda_1 + \lambda_2 + \lambda_4}{1 - \lambda_3 - \lambda_4} \text{ and } L = \frac{\lambda_2 + \lambda_3 + \lambda_4 + \lambda_5}{1 - \lambda_3 - \lambda_4}$$

Then by assumption $\lambda_1 + \lambda_2 + \lambda_3 + \lambda_4 + \lambda_5 < 1$ we have $L \ge 0$ and $\lambda < 1$. This shows that ϕ is \mathbb{G}_{s} - (λ, L) -contraction. \Box

Theorem 3.4. Let ϕ be \mathbb{G}_s -Hardy-Rogers contraction action satisfying (i) and (ii) of Theorem 3.2. Then the action ϕ is \mathbb{G}_s -(a, b)-bi-shadowing provided that $\lambda_1 + 2 \lambda_2 + 2 \lambda_3 + 3 \lambda_4 + \lambda_5 < 1$ such that

$$a = 2 \frac{1 - \lambda_3 - \lambda_4}{1 - \lambda_1 - 2\lambda_2 - 2\lambda_3 - 3\lambda_4 - \lambda_5} \text{ and } b = \frac{1 - \lambda_1 - 2\lambda_2 - 2\lambda_3 - 3\lambda_4 - \lambda_5}{1 - \lambda_3 - \lambda_4}$$
(3.7)

Proof. Let ϕ be a \mathbb{G}_{s} -Hardy-Rogers contraction action and satisfying (i) and (ii) of Theorem 3.2. By Theorem 3.3 a \mathbb{G}_{s} -Hardy-Rogers contraction action is \mathbb{G}_{s} - (λ, L) -contraction then ϕ is \mathbb{G}_{s} -bi-shadowing provided that

$$\lambda + L = \frac{\lambda_1 + 2 \lambda_2 + \lambda_3 + 2 \lambda_4 + \lambda_5}{1 - \lambda_3 - \lambda_4} < 1,$$

that is $\lambda_1 + 2 \lambda_2 + 2 \lambda_3 + 3 \lambda_4 + \lambda_5 < 1$.

Moreover, we can find the values of a and b in (3.7) substituting λ and L which given by (3.6) in (3.4). \Box

4. conclusion

The $\mathbb{G} - \lambda$ -Contraction actions, $\mathbb{G} - (\lambda, L)$ - Contraction action with some conditions, and \mathbb{G} -Hardy-Rogers contraction action with some conditions are \mathbb{G} -bi-shadowing

References

- [1] I.M.T. AL-Sharaa and R.S. AL-Joboury, Asymptotic fitting shadowing property, Albahir J. 7 (2018) 13–14.
- [2] M.H.O. Ajam, Some algebraic results of shadowing property in dynamical systems, J. Engin. Appl. Sci. 13 (2018) 6395–6397.
- [3] M.H.O. Ajam, On Bi-shadowing in Dynamical Systems, MSc. Thesis, University of Babylon, 2017.
- [4] M.H.O. Ajam and I.M. Talb, Some general properties of bi-shadowing property, J. University Babylon Pure Appl. Sci. 26 (2018) 226–232.
- [5] M.H.O. Ajam and I.M.T. Al-Shara'a, Types of expansivity on bi-shadowing property, IOP Conf. Ser. Materials Sci. Engin. 4 (2020) 042039.
- [6] M.H.O. Ajam and I.M.T. Al-Shara'a, Study of Chaotic Behaviour with G-Bi-Shadowing Property, J. College Basic Educ. Proc. Second Int. Sci. Conf. Humanities, Social and Pure Sciences / Part Two, 2021 pp. 110–122.
- [7] T.M. Apostol, Mathematical Analysis, Addison-Wesley, 1978.
- [8] R. Das and T. Das, Topological transitivity of uniform limit functions on G-spaces, Int. J. Math. Anal. 6 (2012) 1491–1499.
- P. Diamond, P. E. Kloeden, V.S. Kozyakin and A.V. Pokrovskii, Robustness of the observable behavior of semihyperbolic dynamical systems, Avtomat. i Telemekh 11 (1995) 148–159.
- [10] L. Gilbert, Elements of Modern Algebra, Cengage Learning, 2014.
- [11] G. E. Hardy, and T. D. Rogers, A Generalization of a fixed point theorem of Reich, Canadian Math. Bull. 16 (1973) 201–206.
- [12] A.V. Osipov and S. B. Tikhomirov, Shadowing for actions of some finitely generated groups, Dyn. Syst. 29 (2014) 337–351.
- [13] S.Y. Pilyugin, Shadowing in Dynamical Systems, Springer, 2006.
- [14] S. Y. Pilyugin, Inverse shadowing in group actions, Dyn. Syst. 32 (2017) 198–210.
- [15] P. Walters, On the pseudo orbit tracing property and its relationship to stability, In: Markley N.G., Martin J.C., Perrizo W. (eds) The Structure of Attractors in Dynamical Systems. Lecture Notes in Mathematics, Springer, Berlin, Heidelberg, (1978) 231–244.